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Q.1 Which option represents the correct order of the given words as they would appear in an English dictionary?

1. Logical

2. Locket

3. Logarithm
4. Longitudinal
5. Location

Ans X1, 5,2,4,1,3
252314
X3 25314
N 4+i8521:3:4

Question|D : 8161618734
Status : Answered
Chosen Option_:2

Q.2 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements

Statements:
L. All schools are pen.
11 All books are school.
Conclusions:
1. All books are pen.
I.  All pens are book.

Ans X 1. Both conclusions I and IT follow
+ 2. Only conclusion I follows

/< 3. Only conclusion II follows

/< 4. Neither conclusion I nor II follows

Question |D : 8161618754
Status : Answered

Chosen npfinn -2




Q.3 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans  of'1- OKS
X 2. DWH
X3 QU
X 4 TGX

QuestionID : 8161618736
Status : Not Answered
Chosen Option:--

Q4 The venn diagram below best represents the relationship among which of the classes given in options?

Ans X 1. Brothers, Males, Females
X, Artists, Fathers, Girls
', Fathers, Uncles, Brothers
X, Police Officers, Doctors, Nurses

Question|D : 8161618779

Status : Answered
Chosen Option:3

Q.5 Which two signs and two numbers should be interchanged in the following equation to make it correct:
23 x 13-195+ 17 + 40 = 366

Ans  X1. 13 and 17, X and +
W2 13and 17, + and —
X 3. 23 and 40, X and—
X 4 23and 17, X and +

QuestionID : 8161618765
Status : Answered
Chosen Option:2




Q.6 Select the option that is related to the third term in the same way as the second term is related to the first term.

MEND : EPHQ : : DESK : ?
ans X 1. LUHJ

« 2. LUHH

X 3. LUGI

X 4. LVHI

Question D : 8161618739
Status : Not Answered
Chosen Option :--

Q.7  Select the correct combination of the mathematical signs to replace star symbols (*) in the below equation and thereby
balance it.
36*14*17%396% 18 %252

Ans O 1 =¥ =
X 2B R===
X3 X, +,-,+=
v+ X+ =

Question |D : 8161618764
Status : Not Answered
Chosen Option :--

Q8 Select the option figure that is embedded in the given figure (rotation is not allowed).
M F [N
| B

N 2

Ans

Question |D :8161618775
Status : Answered
Chosen Option:3




Q.9 Ina certain code language, ‘TEMPER' is written as ‘NFUTGR'. How will ‘SENSOR’ be written in that code language?

Ans 1. OFTQTR
X 2. OFTUTR
X 3. OFQRTR
« 4. OFTTQU

Question |D:8161618742
Status : Not Answered
Chosen Option :--

Q.10 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
All guavas are bananas.
All pumpkins are bananas.
All bananas are plums.

Conclusions:
I. All pumpkins are plum.

II. All plums are guavas.
1II. Some plums are pumpkins.

Ans X 1. Only conclusions I and II follow

< 2. All of the conclusions follow
« 3. Only conclusions I and III follow

/< 4. Only conclusions II and III follow

Question |D :8161618753
Status :Answered
Chosen Option:3

Q.11 Select the option that is related to the third term in the same way as the second term is related to the first term.

NOSTRIL : SONLIRT : : PASSAGE : ?

Ans X 1. SAPEGSA
v 2. SAPEGAS
X 3. SPAEGAS
X 4. SAPGEAS

Question D :8161618738
Status : Not Answered
Chosen Option :--




Q12 gelect the number that will replace the question mark (?) in the following series.

83, 116, 163, 225, 303, ?
Ans - X 1. 414

X138

v 3. 398

X 4 378

Question|D :8161618758
Status :Answered
Chosen Option:3

Q.13 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

Ans x14

X416

Question D :8161618768
Status : Answered
Chosen Option:2

Q14 A (@ B’ means ‘A is the husband of B’
‘A & B’ means A is the mother of B’
‘A # B’ means ‘A is the wife of B’

Which of the following options would mean 'P is the father-in-law of S'?
Ans X 1.Q@P&R#S
X2P@Q&S#R
X3i1P@Q&R&S
v:iP@Q&RES

Question |D :8161618751
Status :Answered
Chosen Option :4




Q.15 Navya starts walking from her home and goes 27 m towards west. From there, she turns right and walks a certain
distance of P m. Then she turns right and walks 16 m. She then turns right again and walks 72 m. After that, she turns
left and walks 11 m. If Navya's current position is 11 m north of her home, then what is the value of P?

Ans X 1.72m
v'283m
X3 45m
X 4.56m

Question |D :8161618772
Status :Answered
Chosen Option:2

Q16 Select the letter cluster that will replace the question mark (?) in the following series.

USE, ZXK, ECP, ?
Ans X 1. 1GU

V2. JHU

X3 JIT

X 4. JHV

Question ID :8161618730
Status : Answered
Chosen Option:2

Q.17 Select the option that is related to the third term in the same way as the second term is related to the first term.

FASTER : GZTUDS : : BOXING : ?

Ans X 1. .CSYQPY

X 2. CMZHOI
+ 3. CNYHOH
X< 4. ANYHPH

Question|D :8161618740
Status : Not Answered
Chosen Option:--

Q18 fH<E=D<Pand C=E>Z=Q, then which of the following options is NOT correct?
ans X 1.P>Z

Question |D :8161618745
Status : Answered
Chosen Option:2




Q19 Select the number that will replace the question marks (?) in the following series.
28,7,72,69, 88, 111, 140, 171
Ans 1. 3850
X 2.39,59
X 3. 29,52
V4. 39,52

Question D :8161618756
Status : Answered
Chosen Option : 4

Q.20 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

40 57 285
35 32 140
? 40 175

Ans - X'1. 39
X2 36
V' 35
X 4. 38

Question |D : 8161618767
Status : Not Answered
Chosen Option:--

Q.21 P.Q.R S.T.U.Vand W are sitting clockwise around a circular table at equal distances from each other in the same
sequence. All of them are facing the centre of the table. If P is facing northeast, then which direction is V facing?

Ans X 1. North
X 2. Southeast
X 3. West
« 4. Northwest

Question |D :8161618746
Status :Answered
Chosen Option :4

Q.22 Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd
letter-cluster.

Ans X 1. EVHN
X 2. AZDJ
v 3. JPMS
X 4. CXFL

Question |D : 8161618737
Status : Not Answered
Chosen Option :--




Q.23 If A denotes ‘addition’. B denotes *multiplication’, C denotes *subtraction’. and D denotes *division’, then what will be
the value of the following equation:
24B14C264D22A42

Ans X 1.336
X2 346
V'3 366
X 4. 356

Question|D :8161618763
Status : Answered

Chosen Option:3

Q.24 Pointing to the photograph of a boy, Swapna said. "he is my husband's only daughter’s father's father-in-law's son's son".
How is the father of the boy in the photograph related to Swapna?

Ans X 1. Father
X 2. Brother-in-law
3. Brother
/< 4. Husband

Question |D :8161618749
Status : Answered
Chosen Option:3

Q25 Select the letter cluster that will replace the question mark (?) in the following series.

GMDR, EOBT. CQZV, ?, YUVZ
ans X 1. BEXY
v 2. ASXX
X 3. ASXY
X 4. BSYX

Question|D :8161618731
Status : Answered
Chosen Option:3

Q.26 Select the letter cluster that will replace the question mark (?) in the following series.

RBT, OER, KIP, FNN, ZTL, ?
Ans  of 1. SAT
X 2. RAJ
X 3. SBJ
X 4. SAK

Question |D :8161618732
Status : Answered
Chosen Option:1




Q.27 Select the venn diagram that best illustrates the relationship between the following classes:

television sets, electrical appliances, refrigerators
Ans

X 1.

Y &3

®OO8

Question D :8161618778
Status :Answered
Chosen Option:3

Q.28 Select the correct mirror image of the given figure when the mirror is placed at MN as shown below.

E54fGQzN2

" xSUsPODIbeE3
x>SNzOOthe3
*SUNsPI1PSG3
v SUNsPIthcH

Question |D :8161618777
Status :Answered
Chosen Option :4




Q.29 smdy the given pattern carefully and select the number that can replace the question mark (?) in it.

14 23 97
22 41 167
3L 24 ?

Ans X 1. 144
v 134
X3 122
X4 110

Question|D :8161618766
Status : Answered
Chosen Option :1

Q.30 Which option represents the correct order of the given words as they would appear in an English dictionary?
1. Service

2. Serpent
3. Swrrogate
4. Serene

5. Serious

Ans X 1.4,5,1,2,3
X254213
Vv 4,52,1,3
X 445231

QuestionID : 8161618735
Status : Answered
Chosen Option:2

Q.31 Ina certain code language, ‘BOTTLE' is written as ‘81" and ‘PERSON is written as *117° How will ‘BANANA’ be
written in that code language?

Ans X1 46
v 36
X3 85
<4 30

Question|D:8161618743
Status : Not Answered
Chosen Option:--




Q.32 Manjot cycles X km towards North and then turns left and cycles Y km to reach her shop. The shortest distance between
the starting point and her shop is 5 km. What can be the value of X and Y in km?

Ans X 1- 8and 4
2 3and 4
X3 3and5
X4 4and6

Question ID : 8161618770
Status : Answered
Chosen Option:2

Q.33  The mean weight of 8 students is 57 kg. The weight of each student is 55 kg. 49 kg, 57 kg. 63 kg, 68 kg, 52 kg. X kg
and Y kg. What is the sum of X and Y?

Ans X 1. 116 kg
V2 112kg
X3 110kg
X4 114 kg

Question|D : 8161618759
Status : Answered
Chosen Option:2




Q34 gelect the option figure that will come next in the following figure series.

Ans
v ——
x,. 2. —
x 3 —_—
x,. - —
Question|D :8161618773
Status :Answered
Chosen Option:1
Q.35 After 6 years, the sum of the vears of service of P, Q and R will be 56 years. Before 3 years, the sum of years of service

Ans

of Q and R was 17 years. What is the current length of service of P?

o 1. 15 years
X 2. 11 years
X 3. 12 years
X 4. 17 years

Question ID :8161618760
Status : Answered
Chosen Option:1




Q36 gelect the number that will replace the question mark (?) in the following series.

140, 221, 285, 334, 370, 395, ?
Ans K 1,431

X 2. 401

V'3 411

X 4421

Question ID :8161618757

Status : Answered

Chosen Option:3




Q37 A paper is folded and cut as shown below. How will it appear when unfolded?

Ans

ES

xR X

O




Q.38 Ina certain code language, 'honest persons' is coded as 'yu du', 'he is honest' is coded as 'du mu cu', 'she is emotional' is
coded as 'mu hu o', and 'she left' is coded as 'hu nu'. What is the code for the word 'emotional' in that code language?

e R
X 2 du
v
X 4. mu

Question|D :8161618741
Status : Answered
Chosen Option:3

Q.39 Seven persons A. B. C, D, E, F and G are sitting in a straight line facing north. B is sitting between F and A. G is to the
immediate left of D. Two persons are sitting between A and D. C is to the immediate right of A. Two persons are sitting
between B and E. Who is sitting between D and B?

Ans x1. G
X2
v F
X4 A

Question |D : 8161618747
Status :Not Answered
Chosen Option :-=

Q.40 Select the correct alternative to indicate the arrangement of the following words in a logical and meaningful order.
1. Asia
2. World
3. Kutub Minar
4. India
5. Delhi

Ans O 1. 3k 153
23,5412
X3.35421
X43,51,4,2

Question |D :8161618733
Status :Answered
Chosen Option:2

=

Q.41 Among five friends, Vivek is elder than Akram. Sumit is elder than Dara. Manjeet is younger than Dara. Two persons
are elder than Sumit. Who is the eldest among those friends?

Ans X 1. Akram
X 2. Dara
v 3. Vivek
X 4. Either Akram or Vivek

Question|D :8161618744
Status : Answered
Chosen Option : 4




Q42 :A + B’ means ‘A is the brother of B’
‘A — B’ means ‘A is the mother of B’

‘A X B means ‘A is the husband of B

‘A + B’ means ‘A is the sister of B’

IfC + M-S + K- T X Q, then which of the following statements is NOT correct?
Ans o 1 S is the father of Q.

< 2. S is the maternal uncle of T.
X 3. K is the mother-in-law of Q.

X 4. M is the mother of K.

Question ID : 8161618750
Status : Not Answered
Chosen Option :--

Q.43  Pratima departs from her home and walks 69 m towards west. Then she tumns right and walks 24 m. Now she turns right
again and walks 76 m. How far is she from a pole that is exactly 24 m north of her home?

Ans  of 1. Tm
X2 6m
X3 12m
X4 10m

Question D : 8161618771
Status : Answered
Chosen Option :1

Q.44 Among five objects named as K, L. M, N and O. the weight of M is 60 kg. L is twice as heavy as N. O weighs thrice as
heavy as L. K weighs half the weight of O. If K weighs equal to M. what is the weight of N?

Ans  f1. 20 kg
X 2. 80kg
X 3. 40 kg
X 4. 30kg

Question D :8161618748
Status : Answered
Chosen Option:1




Q.45 select the number that is related to the third number in the same way as the second number is related to the first number.

108::16:2: 256107

Ans ?(1. 16
X212
V38
X409

Question|D :8161618762
Status : Answered
Chosen Option:3

Q46 gelect the option figure that will come next in the following figure series.

-3

Ans

QuestionID :8161618774
Status : Not Answered

Chosen Option.:--




Q47 What will be the day of the week on 15th April 20297
Ans X 1. Tuesday

X 2. Saturday

+ 3. Sunday

/X 4. Monday

Question |D :8161618761
Status :Answered
Chosen Option:1

Q.48 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

11 14 180
17 18 342

23 20 2

Ans X' 1. 369
X2 444
X 3. 568
v 4. 504

Question |D :8161618769
Status : Not Answered
Chosen Option:--

Q.49 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:
All vehicles are helicopters.
Some cars are vehicles.

Conclusions:
1. All cars are helicopters.

II. Some helicopters are vehicles.
III. No car is helicopter.

Ans 5 1. Only conclusions II and III follow
« 2. Only conclusion II follows
/< 3. Only conclusion III follows

/X 4. Either conclusion I or III follows

Question |D :8161618752
Status :Answered
Chosen Option:2




Q50 Select the number that will replace the question mark (?) in the following series.

25,243, 67,115, 211
As K 1.5

V2 3]

X330

X 4 33

Question ID :8161618755
Status : Answered
Chosen Option:2

Section : GeneralAwareness

1.Which ofthe following was earlier referred to as the ‘Black Pagoda’'?
Ans 1.Ninathji Temple, Nathdwara

x 2. Venkateswara Temple, Tirupati
«3.Sun Temple, Konark
x 4. Meenakshi Temple, Madurai

Question ID : 8161618782
Status : Answered
Chosen Option:4

2 Bihu is the most important festival in the state of:
Ans 1, P€nipur

JZ.Assam

x 3. Mizoram
x 4. Nagaland

Question 1D : 8161618781
Status : Answered
Chosen Option:2

3.ChapterXV of the Indian Penal Code (IPC) deals with the:
Ans 1.%nces relating toreligion

x 2. offences by or relating topublic servants
x 3. offences relating tothe army, navy and air force

x 4. offences against property

Question D :8161618822
Status : Not Answered
Chosen Option :--




Q4 was the firstever mascot for the Asian Games.
Ans 3 1.Lul

«2. Appu
X 3.Kaka
x 4.Yaya

QuestionID :8161618828
Status : Not Answered
Chosen Option:--

Q.5 The Fiscal Responsibility and Budget Management Act (FRBM) was enactedin the year:
Ans " 1.2001

< 2.1998
W 3.2003
X 4.1996
Question ID : 8161618786
Status : Not Answered
Chosen Option:--
Q.6 wonthe Oscarfor the Best Costume Design at the 92nd Academy Awards.

Ans 1. Mark Bridges
x 2. Arianne Phillips
x 3.Mayes C.Rubeo

J 4. Jacqueline Durran

Question|D :8161618818
Status : Not Answered
Chosen Option :--

Q.7 The firstever gold coins inIndia were issuedbythe _____dynasty.
Ans J 1. Kushana

X 2.Chola

x 3. Gupta

x 4. Maurya

Question D :8161618810
Status : Answered
Chosen Option:1




Q.8 The is aimed at increasing the forestcover.
Ans « 1. NationalMission fora Green India

x 2. Green Revolution
x 3. Green Skill Development Programme

x 4. NationalMission on Sustainable Habitat

QuestionID :8161618804
Status : Answered
Chosen Option: 4

Q.9 Which ofthe following is incorrect for the class Aves of the animal kingdom?
Ans ' 1.They lay eggs

J 2. They have atwo-chambered heart

x 3. Their forelimbs are modified into wings

x 4, Their body is covered with feathers

Question ID : 8161618791
Status : Answered
Chosen Option:2

Q.10 Article 59 of the Indian Constitution deals with the:
Ans 1. qualifications for election as thePresident

x 2. procedure for the impeachment of the President
« 3. conditions of the President'soffice

x 4. termof office of the President

QuestionID :8161618823
Status : Answered
Chosen Option:1

Q.11 Name the social reformer who was regarded as the ‘foundational philosopherof modern
nursing’.

Ans x 1. Mother Teresa
< 2. sarojini Naidu
x 3. Kasturba Gandhi
J4. Florence Nightingale

Question|D :8161618817
Status : Answered
Chosen Option:4




